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No. £ 5 B ¥ E|E G KM o] &

1 |[RER-RAETE
ZHLE 1.00] = 25,000 25,000
48 1.00] = 20,000 20,000
RER B 15 1.00f R 25,000 25,000
HR/IMERRE 1.00] =X 25,000 25,000
REMUNE 1.00[ =K 80,000 80,000
BlEELY)—=2T 1.00] =K 20,000 20,000
(REIELLO
BRTF & 1 BB AR 1A 1.00] = 60,000 60,000
R -BHOXFAL 1.00f ik
FEARIK 1.00f =K ik
RAMIRHE 1.00[ = 50,000 50,000
R D E EREET 1.00] = 60,000 60,000
a&t 365,000
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No. £ b4 ¥ E(H G| B & 2 fim
1|1RER TS 1.00] = 365,000
2EETE 1.00f = 1,723,400
J|NELETE 1.00] =H 90,000
AFERE 1.00] =H 350,000

=&t 2,528,400
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No. £ 5 B ¥ E|E G KM o] &

2 |EETE (HRIFELLT)
AR 4.00( #FR 179,000 716,000
ELAR—X 1mfH t2mm 4.00[ ~FR 18,000 72,000
N—RE KM EY ADNPR 1.00[ =K 30,000 30,000
AARKRIEE Ef4E 1.00] = 280,000 280,000
ELE K4 1.00] = 250,000 250,000
BRI 7O—TREEALT LI 3.00| ~Pr 6,800 20,400
BEIEM 1.00] = 25,000 25,000
Rt ERTE BELZAZET 1.00f R 250,000 250,000
EHRIEAE 1.00] = 80,000 80,000
a&t 1,723,400
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No. £ 5 B H ¥ E|E G KM o] &

3 [ETE (B IZEELT)
EEEYORIEY 72.00) m dik
KRAIZ 1.00] = thik
EEREZ(ERV—M) 1700 34~ Fr 3.00| ~Fr aaals
B ERTY 3.00| 4Pt anls
eREIYFRR—F 1.00] =K ik
ELRIYVEY 1.00] = ik
KA AT )= AXRLEER 1.00f = 80,000 80,000
VIrMAR 1.00] = ik
BIEM 1.00] = thik
EHRA B 1.00f = 10,000 10,000
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90,000
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£ o1 i A ¥OE\H | B M % 8
HiEE
RS EEE 1.00 = 100,000 100,000
RGEE 100 = 150,000 150,000
SHRE 100 =® 100,000 100,000
Bit 350,000
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